| L2 COMPUTE time per input event

Entries

2

£800

>

(]

5700
600
500
400
300

200

100

x10

Mean

RMS

r Underflow

1999672

35.6

5.983

0

2100

Overflow

20 60 80 100 120 140 160 180
x: COMPUTE time (CPU kTics)

rate of COMPUTE | Entries 1999672
Mean 1046
—
N
L RMS 555.6
0)900 ...........................................................
= Underflow 0
o
5\800 Overflow5.674e+05

~
o
o

600

500

400

300

200

100

%

200 400 600 800 1000 1200 1400 1600 1800 2000

x: time in this run (seconds)

|total events. O=anyInput 10=anyAccept 11=normalAccept 12=rndAccept | Entries 1999672 | L2-btow-calib: seen tokens | Entries 1999672
Mean 0.5 Mean 2048
RMS 0 = RMS 1182
! Underflow 0 % B Underflow 0
100 [ -5 -e e : - [
:| Overflow 0 > B Overflow 0
. DiT0]0] ot R R L TR R IO PP PP PP PR PRPPREETY PRPEPP PR PEPPPR
T TR T o ST A AU SN SR JU SURR 100 S S
200w e
10° I
00
103 IiIIIiIIlilllilllilllilllillIilllil O_IIIIiIIIIiIIIIiIIIIillllillllillllilllli
0 2 4 6 10 12 16 18 0 500 1000 1500 2000 2500 3000 3500 4000
Input: O=compute. Anything else=Contact Expert x: token value
BTOW #tower w/ energy /event | Entries 1999672 #BTOW towers / event , Et>1.50 GeV | Entries 1999672
Mean 1.749
[2] .
[T SR SO SUUUE U A RMS wral bbb Mean  0.5017
8 Underflow 0
5105 ___________________________________ . __________________________ Overflow 0 RMS 0.04375
104 e R . , ...... e A F e D I S P
O o R EE R T L T R LT o B I S A U S P AP SO SUPN

10?

Sat Jul 4 01:37:10 2009

........................................................................

40 60 80 100 120 140 160 180 200

X: # BTOW towers

10 20 30 40 50 60 70 80 90 100

X: # BTOW towers




3491
561.3

Entries
Mean

351

[ BTOW tower, Et>1.50 GeV (input) |

x: BTOW softID

3491

Entries

1806
338.9

[ BTOW tower, Et>1.50 GeV (input) |

x: BTOW softID

3491

Entries

3010
347

[ BTOW tower, Et>1.50 GeV (input) |

x: BTOW softID

3491

Entries

[ BTOW tower, Et>1.50 GeV (input) |

x: BTOW softID






BTOW tower, Et>1.50 GeV (input) Entries 3491

A20F— e
o —
» |
r-
@)
&100 T e i —ul e
z
c E -
o =T =
"o i el D el ey ™ =
> - = _-

®))
o

il Ill

..........................

.7%

b
i LI
AT,

!

- 0
5 30 35 40
X: eta bin, [-1,+1]

0
0 S} 10 15 20

Sat Jul 4 01:37:10 2009



